MAT 1275CO: Quiz solutions, 18 September 2019

Solve by using the Zero Product Property: do not use decimals in your

answers.
1) 22+ 32 =0

First factor the left-hand side: all we can do is to factor out the GCF
z(r+3)=0

From the Zero Product Property we infer that
either t =0orz+3=0 = o= -3 Answer: t =0or x = —3
If you want to write the answer as a solution set, it would be {0, —3}

1622 —9 =0

First factor the left-hand side: this is a difference of squares
(4 —3)(4x +3) =0

From the Zero Product Property we infer that

either 4r —3=0or4dxr+3 =0

[fdr —3=0

then 4r =3 = x:%

Ifdr+3=0

then 40 = -3 — :z::—%

Answer: z =3 or z = —3

If you want to write the answer as a solution set, it would be %, —%
Important note: make sure that you write —% rather than *T?’_ The

first one is a number (a negative rational number); the second one is a
division problem!




MAT 1275CO: Quiz solutions, 18 September 2019

3) 222 —Tx+5=0
First factor the left-hand side: we use the AC method. We want to num-
bers whose product is 10 and which add up to -7. By experimentation,
the numbers are -2 and -5. Use them as coefficients to split the middle
term:

202 —2x —5x +5=0

Factor by grouping:

20(x —1) =5z —1) =0

(x—1)(2z —5)=0

From the Zero Product Property we infer that

eitherx —1=0o0r2z—-5=0

Ifr—1=0thenz=1

If2x—-5=0

then 20 =5 — x =
Answer: x =1 or x =
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If you want to write the answer as a solution set, it would be {1, g




